Tal og ligninger

Lgs ligningssystemet

MATX.DK
LYT LA&ES LAER
1 Lgs ligningssystemet
—r+y = —4
dr + by = 16
{z=4y=0}
2 Lgs ligningssystemet
—r+4+y = —1
—xr+o5y = 3
{z=2,y=1}
3 Lgs ligningssystemet
dr+y = —3
—3r+>5y = —15
{x =0,y = 73}
4 Lgs ligningssystemet
—r—3y = —14
—3r+3y = 6




Tal og ligninger
Lgs ligningssystemet

MATX.DK
LYT LA&ES LAER
5 Lgs ligningssystemet
dor +2y = —2
r+o5y = 4
{x =-ly= 1}
6 Lgs ligningssystemet
dr+y = -3
—or+y = 6
{.’L‘ =-ly= 1}
7 Logs ligningssystemet
—br+2y = =31
—x+y = —8
{I =5,y = _3}
8 Lgs ligningssystemet
—br —4y = —29
r+3y = 8

{z=5,y=1}




